Add by counting on

0 There are 9 children on the bus.

5 more children get on the bus.

How many children are on the bus now?

Complete the ten frames and the sentences. {/;

There are children on the bus now.




o Eva has 4 coins.
Jack gives her 7 more coins.
How many coins does Eva have now?

Draw on the number line and complete
the sentences.
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Eva has Ccoins Now.

o Ron and Mo are working out 3 + 11 on a
number line.

Ron’s method
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Mo’'s method
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What is the same and what is different? O)
Use the number lines to work out the additions. Q,
a) 2 + 13 =
I T O I I I I O
I U I T I D I O I
012 3 4546 78 910111213 141516 17 18
b) 4 +9 =
I T O I I I I O
I U I T I D I O I
012 3 4546 78 9101112131415 1617 18
¢ 1+ 17 =
I N T I O I O I I I e
O L U I I I O I O I
012 3 4546 78 9101112131415 1617 18
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Find and make number bonds

0 Complete the additions to match the

ten frames.
a)
+ =
0000®
0000e
+ =
000 0®
00000
b)
+ =
000 0e®
0000e®
+ =
00000
00000

¢) What do you notice?

(@



e Complete the number bonds.

a)

b)

o Complete the bar models.

a)

b)

4 +6 =

4 + 16 =

5+ 5=

5+ 15 =

20

20

17

¢) 10 = + 1
20 = + 1
d) 10 = 3 +
20 = + 13
c)
4
20
d)

20

(2



e Colour all the number bonds to 20

&

14 +3|17+3|12+18|0+20(3+16(9+ 11|17 +3|18+2| 2+0

188+113+7112+7|5+15|4+8 (1+19(13+5|20+0|1+ 15

M+8(11+9(19+1(3+17(10+0(13+7|16+2|8+12|5+5

5+6(4+16(19+0(10+1|2+0|14+06 |17 +1[11+9[11 + 8

12 +5(12+8(18 +2|15+5|4+ 15|16 + 4 (10 + 10[{15+ 513 + 3

Make your own puzzle like this.

(@
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Add ones using number bonds

o Complete the additions.

?> @ . 0O
0 000
3+5=
b
' o ooeoe® o oo
oooo0®0® "G0@®
13 + 5 =
" oooee o0 . @
oooooco0® 0@

15 + 3 =




e Complete the part-whole models.

’ G

9 Complete the additions.

a) 12 + 7 = b) 13 +4 =
17 + 2 = 14 + 3 =
7+ 12 = 4 + 13 =

2+ 17 = 3+ 14 =




e Tick the additions that make 16

14 + 2 15 + 2 10 + 6 1+ 16

3+ 13 12 + 5 11 +5 1+ 15

e Complete the additions.

+5=9 +2=9

G Complete the additions.

+5=19 +2 =19

18 + 19 16 + 19
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’ G
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